£ - D%PYI Amarn
e i = DD npnv nax A
;; — 1WPY D1y
ﬁE 350 5 b ey
i 420 1799 371 nbymb
k=
% 560 27 W 171 abypb
j 700 6" TV 271 Abymy
‘ %35 oy M7 Sbyy 227D DpY1a R J
L 700 3 : ()5 2Yo) mapnmy
700 i ((M11 mpyp) N3N VIPA nx a1
PP2I0%9% pyng SWRNY
o IpYaxa DPBT ey wre (1983 12y0p1xa 1D 1 mwna pwna ~
Fo . (8~T7 »mm)
, i 3913 no9
4 oI

1983 — 17 pwnn (M) (o NPAPN) nmary MY Pin

avpm AN Diyme NTPDY 2371 22 sy 7 A0 Aping
’ Y PTIMAT Ry XY

XM 2 1981;n"nwnn AB%- nppox) MY v s oo mpma L1 nooNT noYvna

f
l - naoin”
}f 27w maey = (D)2 2w0) P35 nw a0 nBR L
i 9,000 ~ TR W POY T s bay (1)
} 19,000 4 nIX%PR W wyn ATIRDD NP byb
§
i ,
e = WM NIPNT AR 9205 PYTD MM nann (2)
N 100 27 1y
~ 2,500 271 bynb
1,250 7 ((M11 7yo) Y9351 IR nux 2
OB nvy bw anson ax VS 0 Ty 3
600 ((2)3 myp)
600 (M3 Yo) nowp Ny T nmax 4

+256 1Y 9 win non ,'7?('!!7" Mmooy
1082 "y A"Bwnn AR"Vn—n"p o

10:11.1983 7oy 19033 203 B"on — -136




198

2 70 npon

137

R Sk . PR

DY9pWwa Maka

P okl e — ((3)™1 (®) 4 Hoyp) MNCE NI NN 5
YPwn 59) navt sxn gy nowa oo1b
8,000 (3377 T by
10 nou ' bab
60 : WP %3% soman mow by 1 99% — T paan
20 17337 no1 5w prm bab D25 1WRY Pa3a

= ((M5 o) non=1m DX .6

IR Y AR obwn BT NIPNAY 19w 1pnn 177
ANTTY B598n by mypepy PN D% 1 v by yapiw
SIIPNT NIRRT 7y 35% npowna s 1957—n"wnn
1MWn 5% 79ax obwn 2227 Dipniab 1o PN PRWYS
S vy

TIPNM A%3%T oy ey 5519 a1 DP™1a nx 7

500 ((v)5 mwo)
SURNI
ATIRTY Tyox (1983 1amvpo3 5) Y wnnbibxy
MAT NPT TRV Wy B ot B
3773 fo9
0%1577 W
s SR

92 0¥, a"awnn 24 'DY n™wng nrp

1983 —1"nwnn A(MP*n) (amamy mrwYI) nny-navns ™Y PN

NTPDY 77 mpyp spby PP MBI nTpY 22 °Y0 DY IM9no ApIna
Y P 190%n Nompis ARV 0P 2 iMavn

#1968—n"9wnn (B35 piapwe) nmyTeenb v pinb (V2 pyon
: B5PW1,000” N1 MY Dwpn o o

175 Srynw _ SWRN3 ,
1979 NMpna meyIme XY (1983 “awpixa 11) 770N Pwna
(8=20 nn)
RIS TRITY ' -
1991p noon 3933 foys
amanng w ; 0I5 YW
’ =

. -+256 Y ,9 vn non LRl AR i3 R ITE S
> =173 DY 7 v novs ,‘mw[mv'm Y2
+1440 "By X"pwnn B"VN=N"p ;1610 'ny M73UNa nrp 3

10.11.1983 17PUNR- 19003 1y 4203 07O — nep.




